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Note: Write Answers to the Questions on fhie objective answer sheel provided. Four possible answers A, B, C and D to each Question are given. Which
answer you consider correct, fill the corresponding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.

1.1 Midpoint of A(1,2) & B(3,8)is  (A) (2,5) B (410 (0 2,6) . (2,8)
(1,-3) is in the solution of o B T
2. d A x+y=>1 B x+y<o {C) x+y=0 {0) x-y=90
: Centre of circle - I " B g D o
T (A) 32y B (=32 (@ (3,=2) b (-3-2)
4. Focus of parabola x? = 4ayis:  (A) (~a,0) (B) (0, —a) ft,';" f fzz\o\) \ (D) (0, a)

5. Eccenticly e forhyperbolais: (4  e=1 @  emg fo \_e<1\ /o e>o0
6. Length of major axis of - ~ ‘ —— ““T{?_ o
x? (A) 03 B " es N 02 (o) 0%

T e | —
srE=r LN e )
7. Which one is not scalar quantity: (A) Work (B) \ Time \\[CJ Magnal(cﬁ pee
8. Jicij] w2 e | \}\ {5\, m}\:j, 1
9. lim Vxi4+1-+/x2 15 7V — (B) \ \10 (€ M"“('DT’ -2
10. Area of cirle of unitradius s: (4 - \\ B) \ z\n A\ © a?”\) O 2x?
. %(31) — ( ‘/ﬁ’ 3 \ (B) ) \343 (0]] xgr-a
i) .
Lagrange used___ notation . d "
g, e yZ\ Uy D0 L B e
(3L ﬁ cos}’é = »——-—--x B (A) 7 Sin *7}% 7x (C) 7 Cos 7x ) _ ~7 _Cis 7x
14,

Minimd vaiue f function ™\ "
fOr) =x% + 2x —Sfsatx = -

in"ly+c (B Coslx+c € Tan™'x+c¢ D) Cot~lx+¢

—=+c (B) Ste () =G 1) ==

y=x*+c (B y=e*+¢ € y=lx+c @ y=x+c

3 (B) 1 (C) 2 (D) 0

19. ion of line th h origi
Esuaaeno fine through origin 2xmy=0 B Zrty=0 § ezy=g O x-2y=0
with slope 2;

20 Slope of line parallel to y-axis: (4) ~1 (B) 0 () 0o (D) 1
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SECTION-

Write short answers of any aight paits from the following: Q-w P A2-2722 (6x2- 16)

Express perimeter P of 3 square as  function ofitsareaA.  ii. Iff(x) = (=x + 9)* find £ (x)

Find  lim =522 v Differentiate wrt "x" (VX — =)

o " . H g X { X '\‘};)
N e — dy o e 0 .

ify = \/;c +y/x find — vi. Find Ejilfx =y Siny

Find f(x) i ) = x3. e/ Vil Ky = x%In(3), find 2
X

o -1 (% ) dy
lfy = Sinh (E),hnd -
; i ) : - x x*
Apply the Maclaurin serfes ta prove tiat: Vitx=145-"0+ = “H\
Graph the solution set of linear inequaity in xy - plane, 2x +y €6 / =
™,
\\’ 2 . (8x2=16)

%,

What s a feasible solution?
Write short answers of any eight parts from the following: g\ N,
e : ay g dxe ., 2 2= " b a=vx)?
Using differentials find = and 5 for ¢* + 2y =16 |;.’ /\Evaluate. — dx L8
" X2 ' i ) s s .
Evaluale: [ Z== dx . . Evalyate: [ tan e 1:_'"" e \1}
/

[ 5EE8 vl Evaluat d /

Evaluate: | o355 . J‘ . }
\ LS (2x % 1)2 .
: . oy oyl \\\ e
Solve the dafﬁfntlal eﬂatmn prigh = S
Find sum of AB and €D wheigA(L, 1), B(2N), C(~1,3)}and DF<2,2)
Find direction Cosines of vector V. :/3:: ~j+2k \ ®
Find xsothatU = 2 o i ‘{A_andv engi
Compute @ x band b % a f \? i
Find volum {=2] + 3kandw =i~ 7j— 4k
Write sh (9x2=18)
The point C (-5, e circle. What is the radius of the circle.
Show, ¢ points A(0, 2 ; i verfices of a right triangle.
The peints P(= (= coordinate system. Find the XY - Coordinte of P
referred to the tra ' )
Find an equation 0
Convert 4x + 7y — 2
Find the lines represent Wy 2yt =0
Find the point of interseleti lnes3% +y + 12 = 0andx 4+ 2y =1 =10
Find center and fadius Ohci 245yt +14x + 12y —10=10
Find fo yt = ~12x
Find fo ollips€ 9x* + y* = 18
Find eccentricity of hyperbola, y; - xt=1
Write parametric equations of hypeibola.
Write down equation of tangent to the circle x* -+ yt =25at(4,3).
SECTION-U
Attempt any three questions. Each question carries equal marks: (10x3=30)
Evaiuate: X Secx — Cos:: b . l‘.f_}' . su
iy ———— 4 (b) Fmddx if xJ1+y+y\f‘1 +x =0

{b) Find equation of the line through (5, —8)and perpendicular 10

Evaluate:
the join of A(—15,-8) and B(10,7).

j o szq_-s—c‘x
Solve the differential equation (y - X g) =20y + %

Graph the feasible region of ihe foliowing system of linear inequalities and find the corner points.
2x+y510.x+4~y512, x+2y<10 x20y =0

Show fhaty = ‘1} has maximum value at x = e. e
Write an equation of the circle that passes through the given points A(4,5), B(—4, -3),€(8,-3) _J__;r:' \

£

H irectrix of the parabola x% ~ 4x —8y +4 =0




